Subject: Bugs in histogram-function?
Posted by paal on Wed, 30 Jul 1997 07:00:00 GMT

View Forum Message <> Reply to Message

Hi,

I'm using the histogram function in IDL 4.0.1 for IRIX. When | ask for the histogram of a relatively
large array, 196886 elements, some points turn out to be 0, even though the values exists in the
array. The preceding point gets the right value of the "0-point" + the value it shold have. Do
anyone have experience with this kind of trouble? How do | avoid it?

Paal Berg
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